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1. Answer the following questions as directed : 1x8=8
o 2HRRnId o SEPTICY Oes il 8
Tiova eiefR FoeiRRRT Sed 1l ¢
(a) Write True or False :.
wm (7 STeE ol g , \
@%‘ J (8= (ST 8
If () A—B=A then (Cofea) ANB=¢
2 A_B=A T OE ANB-¢ TA
(b}v Fill in the blanks :
e D1 779 1 8
<FTZ e I ¢

If Ais a skew-symmetric métrix, then diagonal elements are

all equal to
% A @5 B T G, (O 26 FReE [{ed (e 9 |
T A =l o efeom il 27, oIz 7] o Srminefem T |

(c) Choose the correct answer :
w7 Teao! AR Tt ¢
g Teals R I ¢

Value of a third-order determinant is k. If each element of the

determinant be multiplied by m, then resulting value will be—
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95l SO WA Feiwes i kmﬁﬁcﬁmm'mmﬁvﬁqw
=, ma—»xﬁvﬁwcﬁﬁm

_%?I—(FN ez (determinant)~48 I k| 3 [efiaeioa & o
m G @ T T, ORE TEER N 2E —

\

() mk \

() 3mk
(i) mik
(iv) 9mk

(d) 1f »C =?%C, , then find the value of r.
—jq BRI @ (SERE 3 TN FR 74 |

% %C = 25C, | T, O - S FR |

(e) Find standard deviation :

e Jpem el <l 8
A 2 Rpfe A =i ¢
T=T e = Bd3in = T
(/ What do you mean by two mutually exclusive events ?
1 o= g <ol 3R B @1

ufs Ao IO W00 I @RI?
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(g) Fill in the blank : 4
<Al IR 23 9 ¢
ARl 2K I 8

If any value of a set of observations is zero, then of the

observation will be zero. :
< i R <5l TR 2, (90E (1 I % 29
1 o T (-G A I R 2, orRE A e
A !
(h) What type of correlation exists between, “Atmospheric

temperature and sale of woolen garments.”

e TRl Ok T A [Pl Sers 5 4560 LTI (Al A

‘AT TREO! 7R e (PI)-GH (A i = iy & W@EF TR
s T |

2. Answer the following questions : 2x5=10

ooTq ZICRENIN Ued Al ¢
T dxlalem Ted nie ¢

(@) Express{-11} in the set-builder form.
L1} = HES oo “aies i |

(~1,1} & Cb-Rrer Aafors & |
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(b) Without expanding find the value of the determinant
eAiRel TRRiCe RGO i el <
e @ FefRba S FJeE e

o A~ N
o0
O O W

—_
—

(c) If the 'simple'interes\t on 1800 exceeds the interest on 31650

in 3 years by ¥4.50, find the rate of interest p.a.

3% 1800 5911 3 T 7 9, 1650 G 3 T2 FE J00T 4.50 5
@R =, (o0 TR o9 2] Ml =1 |

afi 1800 Bl 3 TR FEET W, 1650 DI 3 TR FeT A oI
4.50 Tl (& 73, O AR Ao 2 e e

(d) AM and mode of a number of observations are 60.4 and 50.2

respectively; find their median.

(I SR TR e S %76 @G 60.4 SR 50.2 20w, Feed

s Wefm =4

0 R qdidies T (AM) G (8 (mode) IWFE 60.4 S

50.2 3 Simd 945+ (median) GRRIEE G

85 / BMST [ 5] _ Contd.



5 X
(e) Find the value of x, when A =L 3} and AR AT

SN

g 3} o A= AT T, (SERE x I N @ 1|

ﬂ GaR A:AT\?\@,W F S [ @

3. A man took a loan of 450 @ 4% p.a. CI. He paid 2148 at the end

of first year and 156 at the end of second year. How much should

he pay with interest at the end of the third year ? 3

GG ST b 7O BN 4% G 450 53] 4 &7 | (9 22 289 (*17© 148

53! wiiS: O I (IS 156 5 S e | 9O T2 (S JOo-3Ce S
et (o8 i Bl g amifera ¢

GG (FF T2E 4% bEqia R R 450 Bi 47 7 | S 22w Tem (Il
148 Bl ¢ O T2 (A 156 GBIl #ARCH 1 S0 | TOR TBEH (*HIT7 JM-
T ANy FH0O 20 O T O e 2@ 2

4. Draw the graph of the following inequalities : 8
OoTe iRl SPTSIED R SeAl (e (5149 TS (149l 2
TR STl (@19 ST T |

SIS SYS 2 D6 2 oo U 2028
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5. Find n and r , if — 3
S o A i T s A

n G2 r= = [efm T, I —

"P =1680, "C, =70

\

\

Or / =31 / 92441

In a small town there are five schools. In how many ways a father
can send his three sons so that two of them cannot study in the

same. school ? \ 3

G4 TS 5 <l T O | GO 02 (TS 3 T IS (A Feca #HfIAe
o ACO FROT T G Fero b GTRIE ?

g5l =iz 5 & Rwler o, «Fem TR AR RE O forfo @ sos

TAIT ATITS AT TS SIHR N & G G2, R ACCS AR 1 2

6. A man travelled 20km at speed S5km/h and again 24km at speed
4 km/h. Find the average speed of the man. 3
e TR @f® T%ie 5 il @ore 20 Tl o9 TR e S dfs w6
4 Tl @ 24 T gwd SR TeeEs v sfecel o =i |

e (1% @fS 7R 5 B @l 20 B @ AR @ffs TR 4 [ @l 24

&N g EF | @b e @@ [ FEi :
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Or / 7 / @131
With the help of set operations find HCF and LCM of 21, 14 and
28. (S | | 3.
S el RIS 21, 14 9= 28 SN, O F17.@, Fief |

2 AlER AR 21, 14 ¢ 284 A1ALG. 8 T, [ T |

Y
7. Find the middle term(s) in the expansion of — 3

zmcwwmwﬁcﬁaw_—
Rrgfofn Tl o el e —

8. A man decided to buy a colour TV at Rs. 16,500. He cashed down
Rs 2500 and paid the balance in 15 equal yearly instalments . If
the rate of CI be 4% p.a., what would be the value of 1st instalment
at the end of the year. [Given : (1.04)7!5=0.5559] 5

e R 01 38 B 16,500 Tt Refiitet 6% SRee | (o€ 9w 2500 Tl
fieet o1 <K B 15 5 T A TR )ie e ke | a9 4%
b o1 TT6 T=H mmﬁm'aw%@wfﬁmﬁ@m ;

[l @icz (1.04)-15 = 0.5559)

GFE (BT 16,500 Bl frca @l fest 6fe @ w0@ 1 o5 5911 @7 2500

TR M ReTR e @< i il Al B Be@ 15 B ffre oEei
T | T Sl 0 TR I=EA 4% 2, OIRE TmEE (I 8 Rl aifEie 7O
fesT? [oredl @il (1.04)715 = 0.5559]
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9. Compound Interest for 2nd year on a certain sum at 4% p.a. is

Rs. 25. Find CI for 3rd year. bl RS

N 4% ?1\9%1 2RO (G TG BOR T279 bafan 70 25 5 ZCET, I I
bafa o K 2 ‘
4% A VR @I TR BOR T2 bergia A0 25 Gl 2, $oRl a2

bE(@ 7 T A Wl |

10. Using mathematical induction, pfove any one of the following :

sfifos S wg I72T ST e @by @S 0 8
- NS e O IR FE TN (F-(FA! G A FE 8
(VSO F S i‘s divisible by 9 for alln e N
SRl ne&am 10" +3.4™2% +5 i 9 I [KeIey |

neNcﬂaWWw 10" +3.4"2% + 5 WG 9 q=t [Keeyg |

1 1 1l n

1
1 STt
O 85 B0 (G 2na) e 5

for all ne N
AR ne N 99

n e N -&& 75e] WA S
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a
11. In the expansion (XQ —;j , the term free from x is 5376, Find the

value of a. S

NS
(x2—5) RIS, x 72l #MC6 T 53761 a T A FF T=

X

\
\

v _
(xg —%) Rgfors x-2fere M 261 5376 | a3 T Fef @i |

12. A box contains 5 white, 4 red and 3 green balls. In how many ways

can you draw — ‘ S
() 3 white and 2 red balls
(i) 2 balls of the same colour ?

GBI AT 5 51 291, 4 Bt 36 T 3 B GO 5 Wiz | T =eel o 1 9FR
sfifsa—

() 3 T 60 SR 2 B G e

(i) 2 Oi I a2 & ?

@l 3w 5 B w4 T = ¢ 3 B e =1 Al witg) @i (& T
Tl o —

() 3% ame2 G

() 2 % 952 Fuex 3=

WIS AR 2 ; ¥
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13. Without expanding prove that —
B T e 9 —

TwR = A TR —

berainas ilbeiSabisca

b2 ca b*l=lab ca bc

ciiticnillab B8 cayheaD

\

Or / 7231 / @<l

Solve by using Cramer’s rule : S
(@ NRE G A 9 8
3x+y+2z=3

2x-3y—z=-3

x+2y+z=4
ey ol 3
A= =
N SR B (T
and (S (A+B)2 = A?+B2, find the values of x and y. 5

x O y W R =10
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1163);

Ihiie 1l e |
: z;ﬁ:—rAz[ ] B={ j‘uﬂﬁ‘{(A+B)2=A2+BQQ?I,WxGy—u‘]ﬁW

Q] U o=l

ﬁcﬁww

Calculate standard deviation and co-efficient of variation from the
following data : | | 44+4=8
oo {1l U #A91 W e Wi [osei @i e <1 ¢

RS wrRE! efite Mpfe @ e e e < ¢

Marks obtained (less than) No. of
students

A TS (90 W) Qa9 TRl
el T (CAF F) QR
10 147
20 41
30 : 79
40 , 97
50 | 100

16. (@) Define correlation. What do you mean by positive and negative

correlation ? ' 142=3
AT IR il | SIS O A TS feice & @i ¢

TRITIR R WIS | AN R AN TR o0 [ @i

85 / BMST [12 ]



(b) Find the coefficient of correlation : S
MEURETIR ROCRICE
T SIE Wl el ¢
bohiny I Ot BYIA,, MRV CTVRT
TR SRS RIGI SINNO RIS
\
\
17. (a) Three coins are thrown simultaneously at random. Write down
" the sample space. : 1

5! m APEelE qrTel Fewet T 26 | 2N dfowf STiR! B
o> @l ARSI G Fews 41 281 | 91 ZAD el

(b) A and B are two events, not mutually exclusive, connected to

P(B) :% and P(AUB) =—;-,

a random experiment. If P(A) = % )

find P(ANB). | 3

A % B €5l q0Es AR w6 Siee 1ol AR Sikkiere wo | IW

2

Bl P(AUB)==, (5t8 P(ANB)3 I

N | =

P(4)==,

34l
A ¢ B a5 mees A e wfee g wikaiere w6 | 3

2

P(A):%,P(B):-S— R P(AUB):—;— 77, wizesl P(ANB)-4q 9

e st
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(c) A bag contains 10 balls numbered from 1 to 10. Find the
probability that a ball selected at random bears a number that

is a multiple of 2 or 5. A 4

<1 (@91 10 1 7 SRR 1 9 #1110 &1 A< Bl Sz e ofa 5
1 AT (-1 e 1,2 1 5 7 e el AR Teier ff 731

\ 3
G Ao 10 T 01 O, @eFce 1 (@ 10 27 720l T R |

G TP AGBRFOIR Fioel 51w 2 A 507 wfdioss 72! sl Fuife]
el <@

18. (a) In a class of 50 students, 24 students have taken Adv. Maths,
16 have taken Adv. Maths but not Geography. Find the no. of

students who have taken both Adv. Maths and Geography.

4
O (TR 50 T WI-RAR WAMEw 24 T THoe R T 16 S
TwAlfe ez e el G AR Tweif® S BTl YR @ g
Ya-RqE TR [ = |

G0 =T 50 T PaRaE S 24 & fcarz Sweifte, 16 T Qana)
TS e, S @R | Swsife «me vl 1l kg frg g
BaRIqR A [y w5 |
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Or / 7231 / 97

Find quartile deviation from the following data : 4
ool ORI o[ 5wl [bem [ 1. ¢

Tova SRR g vedicd Rpife Rl < ¢

Class interval '\\ . Frequency

CE@) Sl | SIEIE

CA IR , st

95-105 R w20

105-115 : 26

115-125 : 38

125-135 16

(b) A polygdn has 27 diagonals. Find the number of sides of the
polygon. 4

95l I2YGS 27 Ul T S0z | ILGSHR e TR [l 1 |

Gl TRgrer 27 T o Wi | F=geia A )l f{l S|
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